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It is a Shechitoh, which is not fit, and it is not considered a Schechitoh

Overview

¥"9 maintains that by n1*nR2 270w w7 (where it was a 171), the thief is liable for
'm "7 mbwn if was vmw the [YI72] 1277. The X3 asked how can he be 2>m, since this
is a 7MRY 7KW v nw, and W' maintains that a UMY AW KD TR IPKRY 0T,
npoIn discusses why indeed it is a 7787 7R 0T,

=191 NV 210N 919)T AVNNY NYIIN Y2)D
Regarding the payment of '/ '7 it is the view of w"1 that 7nw X% IR AIRY "0AW

v nw, for we derive it from the P05 of 3971 72w M12WY that we require a 7R ALY -
— NN 29N 9127 33N YVINYT IND 2391 93

Excluding, however, the prohibition of yy7 sy, where the 77910 holds him liable
in this manner even though it is a 787 7R VM.

nvoIN asks:
= NI NPNRY NVINY NYY YN INNPNY 9NN ON)

And if you will say, but why is 1117 "0 considered a %R 71RW W -
= (x5 97 5P9INT /2 P92 1379ANT N>D SN99¥M NTNYN 927 919929 NYWa MTaY 199 XN

But he can redeem it after the v nw, while it is convulsing, for it is still considered
something which can stand and be evaluated, as the X713 states in the second =2
of 1 noon -

!In our N3 the text reads X 7% (instead of X1 X7 7%7). Others maintain that the words v nw 7w X1 are not a
part of the 71"7 of this 'own, but rather are the beginning of the '01n and it should read 121 ' 7 °23% nwnw Tw X9
2 Regarding 'm '7 the 70 writes (in 12,83 [D°0dwn] Nw) 17201, and by Ao the 7N writes in (70,3 [ypn] PWRI2) Mam
19 12v, so just as by 7o and his brothers, it was a (77Ww2) 7K1 AV NW, the same applies to "M '7 that it must be a
TR 770w, otherwise there is no "M 7T payment.
3 By v wnw it is definitely a 787 Ar&w 70°nw, and nevertheless one is 211 for yI7 "0INWw, because that is the only
way that this prohibition can take effect, it must be a 7R n1RWw "0 nw, for once it was Y2 vrwy, it is 109 and MOR.
Therefore, in our case we cannot hold him liable for 'm '7, since he was Y12 2*w7p vMWw, and that was a 7I°RW 70w
7X7, for which there is no '™m "7 2.
4 Immediately after the 7u nw the animal is not completely dead; it is still moving somewhat. During those moments
he can seemingly redeem her from w7pn, and she will be 1711, and one would be permitted to eat it, so it should be
considered a 71X 7w nw. We can understand nN19010 to mean that since it can be redeemed, we should consider it as if
it is redeemed, or simply let us answer that in this case it was redeemed, therefore he is liable for '™ '7.
5> Regarding the redemption of 2w7p Nnana which received a o the 770 writes (in 2-X°,1 [XMpPra] RIP°1) DX 7AmM
720 and 1727 7M. The animal needs to be capable of standing (7»vi). This animal as long as she is N93797 is
considered 727y 771¥7 72. See following footnote # 6.
6 The X3 there reads; 7°127 597 7910 X7 9777 NDDON R 77V DI 210 R 2°IW 72 VAW 1310 A2V 97AY0 Y2 KXah 00N
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0N responds to an anticipated question:’
= NVINYN M DI 0N 1Y PN

And you cannot have a greater 21 than 7w, so it can be redeemed —

mooIN rejects another reason why it cannot be redeemed:
= 1927910 PN 2IY U2V 2957 91217 X210 NI

And it is not logical to say that since it was invalidated by the y 11 nvnw, it can

no longer be redeemed. moo1n explains -
- 199WY MISNT DIVN 17919 PR DD 1N NDYIWA NINY DIV NaYWaY

For granted that a 9105 that requires burning, for instance ®13°s, it can have no

11979, because there is a 713% to burn it -
- 8992 UNA D109 WTPAY Y3 (4,13 91 oonosy) AYY Y 9993 1990INTD

As the X3 states in 7yw 92 pas, anything which becomes 102 by @t (like
Mi27p7) must be burnt in fire -
= (x,n3 97 MMa3) DD TY P92 129N TI TN91aPa NIN NOYIYA NN YIN NVINY YaN
However, 771 v are not burnt, but rather they are buried, as the 71wn states
in 7m0 7Y PoD -
= 1159355 N Y90 199 DY VAYN 99931 NNX NI 10911211 IINY )
‘One who is not an expert (regarding the 2°n1 of a 7122) and he saw the 9123, and
he pronounced it to have a 21, and the 732 was v on his say so, this 7102 needs
to be buried —

In summation; NMooN asks why is 7117 "0 considered a 7MR7 71°RW 70NY, when seemingly we
can redeem it (like we can redeem any 01 9¥2) while it is No279» (when it is still considered -2
799w 1Y), for then it is certainly a 01 %¥3, and since there is no 719°w 211 (only 713p) we
should be permitted to redeem it, so it will be 79°28? 2011 and it will be considered a 7R VAW,

7 n11327p can be redeemed only if they acquire a 0. This animal was vnw1 without a 21, so how can we redeem it?
8 The 70 writes in 32,1 (0%) XP" that A7wn wXa 9a8° X2 wNpa, from which we derive that 77w° wRa 9100 wTIpaw 5.
° The difference between 79w and 737 is that when we require 79w (like if it was 919, etc.) based on the 7% of
77w WK1, we cannot redeem it and eat it since the 7710 commands us to burn it. However, the requirement of 71712p is
not 77N 11, rather the 0»317 said that since v "0 (for instance) are AR172 O° 0K, therefore we should bury it, so
no one will come to derive benefit from it. Therefore, the question is, let us redeem it (and the money will be w7p7,
and be used to buy another 127p2), and the animal can be eaten.
10 A 7152 7102 which has a 01 may be eaten by anyone. However, if it has no a1, it needed to be brought to the p"»i"2
as a 127p and eaten by 0°172 only. When there is no p"»i°2 the 7122 is set out to pasture and when/if it receives a o, it
may be eaten. However, in order to decide whether it is a proper permanent 01, and not a temporary 2, we require
a nnm, an expert to see the 01 and render it permissible to be eaten.
' We do not trust the 7mmm X and assume that it was not a permanent 212, and since the 22 is W17p as a 1277, we
consider the slaughtering of this 7132 as 17 *vINw, and it requires burial, but not 79"W.
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mooin offers a possible resolution:
= PN NVIYDNN YN RIT YIDNN 99210 1)

However, according to the one who explains that a no>92% is not considered as

being alive (regarding 7>7wm a70v7, etc.) -
= NN NVINY INDT NNV 99 NNNVA INIY? 1119 NON

Only, for instance, where a "2 killed a non-kosher animal, or a gentile was

vmY a kosher animal, where in both these cases it is not considered a valid fwsnw;

in these cases where there was no proper 0’ nw, we say that a no379n is like a 71 -
= (OwIx,59m PIINT 72 P93 N NON Y91 HDIYDN 1Y DIV 299 IN DY NA LAYT NINNY

For that ruling'? in the second = of "9 NJon, in a case where he was vmw two
0°12°0 or the majority of two 0°12°0, and she is still no2957, the rule is that she is

like a live animal; that ruling -
- Boypn oiva B3nyvn PN

Is not a ;mwn, anywhere -
- 9915 15NNV INIYS DINYT (x,x0p 97 0w) AVIIN) NYNT NINN 11 NONX

Rather this ruling is the one in 2©Y97 7w 279, where "0X 27 said that some 2°Xin

teach that a »X=2° who is bMWY a IRV 172, etc.
= JND AW NN NN NN YN KDY NNPIND NVNYT NI VAN

However, where he was vmw a kosher animal properly, a ne295% is not considered

alive, so according to this view, the issue here is resolved -
= 19523 7990 NONINY 16NN 19990 NVINYT 1199 NN 1979 NAIND NIN NVINYY

For vy vy cannot be redeemed, since it was a complete 7w W, to remove this

animal from being a 17%°21 -
- 1979 1Y 75N OX NYYIND NPNNY BN

And the 7vnw was also effective to permit it to be eaten, if the animal could have
had a 11°78.

Moo responds to an anticipated difficulty:

12 This was the ruling, which was cited previously in this n1901n (see footnote # 6).
13 The X3 in X, 70, when citing this ruling states 0" (see footnote # 6), indicating that this is a 7awn. If indeed
this was a mwn it would be difficult to limit it only to fX»nv NV Nw.
4 The Xm3 in X,7 11 was referring to a mwn in 2,7°p 121 which states, X702 MDD 22210 TAWH RNV A2 VWA
NANW 7Y 11723 NRAW R? 22K, 12918 nXnv. This 7awn indicates that a no31o7 is still considered to be alive, since it is not
m>21 R nRnvn. However, that mawn states clearly that we are discussing a ixnv 273, where the v nw is ineffective.
15 A annv a2 neenw which is nd797 and is PP NRAL RAWVA as mentioned in the 7Iwn (see footnote # 14), is only
valid if he had intent to use it as food, and it became nxm™w 93p% 7w, In any event this indicates that the animal is
still alive (for if it was dead, it would be Xnun as a 719°21, not as 7231 NRMW).
16 Therefore, since the u nw is effective, we can no longer consider it alive even if it is No79» after the v nw. Once
it is no longer considered alive, there can be no 1179, for it is no longer 727¥m 77AY7 2.
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- 112 WPY W 192 13N 539 1527 3995 IYNY %397 NIIN 17NN

For here we are discussing the view of @', where both >''= and %''1 agree -
= 19991 N1NRYN YD 19N PYNY 239D NN SWTPY
That according to w''9 that n2m >w7p were included in the requirement of 7727

7199w, and once they are considered dead (for it was a 71°21 7o ARXIIY TIRD VW), it is not

longer 727y 771Y7 72 and cannot be redeemed even if it is ND3797.
= 19297 N2YIN NION 2979 NI (3,25 91 DININT NN 7992 18)990N75

As the X713 states in the last 95 of 77n noon, that they ("1 °"9) do not argue
regarding 7157¥mM 7717, only according to the j129, but not according to w".

In summation; NMdo0IN answers that (there are those who say that) 01279 is considered still alive
(regarding 7157y 771Y7), only if it was not a nanni Avnw (like ARMY Ann2), however by a v AW
nanna (even 72721 o1 AX°X11Y), the animal is considered dead even if she is no379n, and therefore
she is not 727w 77RYR 9902.

n1voIN asks:
= 20154997 NMIYN Y952 NN NRY N YYTPT 1919297 NIYIN WIPY WD NYP 0PN Uon Yan

However, there is nevertheless a difficulty on %''%, who maintains, according to

the 3129 that a2t w7 were not included in 7299 77RYT -
- 211193 PHYY NIN DIVY DIPN DIV VINNYN NYT OND ININTI

As the X713 states there in 7770; how is it that it cannot be found in any place
that any Xin should maintain that 1212 *w72 can be redeemed even after death —

mooIN rejects a possible answer:
— 179 PNT NI PAYTNIT M PN

And it is difficult to say that it is only 323972 that they are not redeemed (but n"»

they can be redeemed), the reason the 7127 forbade it is -
= DN N 22 HY 953 VAYI PRY DN DPVN INYI D792 Nt DN NYYY 29D

17'We stated before (see footnote # 16) that since it is a 7”7 7WNW, it cannot be redeemed even if it is N02797, since it is no
longer 127w 77w 12 (for it is considered completely dead). However there is an opinion (in 2,27 71%0) that maintains that
by mam *wip (which we are discussing here [y "0 is only by 1121 *w7p]), there is no rule of 727w 772vi, so they can be
redeemed even after death. How have we answered the question according to this 7"»; it can still be redeemed?!
18 We cite the X3 there; 73"2 WP 11277 AR 2" ,79799m 770V 9222 7 0027 P72 OWTR TR A2 WP TR 11270 10 7R
70V TR D902 Y RY 52 wTRT wR [201n] (70) a1 a0 09V 7T 9902 v RY [ W 10V 37ayn 9952 10
799U TR 9923 197 nam wTR.
19 See footnote # 18.
20 This means that they can be 77791 even if they are dead and cannot stand up.
2l The question is, why are we required to bury Y1 *0IMWw, when we seemingly can redeem them according to 7"
(according to the 1127), since they are not 727vm 772¥7 12. We should be able to redeem them, since they received a
o1 (as MmooIn stated previously regarding v nw that ama 2173 01 T2 PR).
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Since he made this 2 (the v nw) with his hands, therefore it is like any other
case where one makes a 2w, that the animal cannot be slaughtered and

permitted to be eaten on account of this 21, which he placed there intentionally. n1901n
finds this answer lacking that the entire prohibition of redeeming Y17 “0IIW is only 732777.

n190IN answers:
=1 DY MY DI BPUN DINN NINY DINNT 9D YU

And one can say that a 2y» which the animal received while it is alive is considered

a 2, that we can redeem the animal on account of this 012, even 70 anx -
= NY11A (x,9) D999 9102 XINTI 2091 2PUN XY NN 9NNRDT 0N YaN

However, a 21%» which occurred after death (like the 70 rw here), is not considered

a o, as the Xn> 12 taught explicitly at the end of 7920 noon -
$9927% 012999 Y91 1P29N) 2202997 NTNRYN S¥A KT 179 D11 K92 192D DN N

If the nam *w7p died unblemished they should be buried, if however, they were
29 sy (before they died) they can be redeemed, for nam *w7p do not require
799y a7y, but nevertheless (even though mam “wip do not require [7MY7
797vmM), unblemished 12172 *w7p are to be buried.

Summary
There is no concept of N037o» if it was a nNKT AV Y. A 017 is considered a valid

o, only if the animal is alive

Thinking it over
1. mdOIN writes the reason 11217 *W7pP cannot be redeemed after 7V RW, because it is a
nn nR?T 0m.2* However as soon as he nicks the vwn (the esophagus), it is
considered a 01 %v2 and the animal is still alive, so why cannot it be redeemed since
it is a o»nn oM 2!

2. Does nmooin last answer (that a 7n°» IRPW 21 is not considered a MT9% M),
answer only the last question of M2 (on "), or does this answer the original
question of MdoIN (when we maintain that a No>797 is considered *r> regarding
70V 77?20

22 See ‘Thinking it over’.
23 This fits according to 2" as he explains the 1327 (see footnote # 18).
24 See footnote # 22.
25 See TR X2PY M WITN.
26 See mwn nom.
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